PART—I / am—I
CHILD DEVELOPMENT AND PEDAGOGY / @t famra afft fan-ma

Directions : Answer the following questions | fidw  Frafafan @l ® I7 ¥ % fom e
by selecting the correct/most appropriate “ﬁﬁﬂ-ﬁ:ﬂl L]

options.

1. Creativity is thought to be related to 1. GaEAEEEA ® o =YW # Thifirg
the concept of— Gicile
(1) crystallized intelligence (1) TARER st
(2] convergent thinking (2) =i w4
{3} divergent thinking -{3’ fafay #/=
{4} fluid intelligence (4) =8 i

2. The acceptable s:mnd_ cﬂm]:in_al:luns of 2. Tl i % whE S ENE R sEE
iu]l:;guage are specified in its Forel % et @A W R
(1) grammatical {1 Gl
(2] syntactic [2) ST
(3] inflection (3) Fwim-famas
(4] phonelogical [4) wafi-wad

3. The position where thought patterns 3, @ A=A it wfEm felt wm g wafm 24
are influenced by languages is called— B, @1 i Rl o t—
{1} linguistic determination . (1) v faaifa
i2) cognitive bias (2] HIATEHS 95
[3] sociolinguistic genesis 3] ATTETF -y T
{4} cultural tendency (4] “ﬁ“ﬁ A

4. Ravi repairs appliances by testing 4. W9 w3vEl ol we % snum W Iww A

hypothesis about the cause of the
malfunction bascd on his experiences W F w5 ol 0

with the symploms. He usés— TIE A F) ¥ 5% Tm wom 2
(1) algorithms (1) FeR-Tafa =

(2] mental set (2) wHfE% g3 =

(3] heuristics [3) rarh fafa =

(4) insight (4) s =



S. Divya often divides the assigned job
into small tasks which she can handle
easily. She is using—

{1) secondary elaboration
(2] subgoal analysis
(3) Tunctional fixedness
{#) reductionism
6. "Seciety determines the roles  of

male and female™ This statement
articulates—

(1) gender as a hereditary endowment

(2) gender as an intuitive construct

(3) pender as a social construct

(4) gender as an inherent construct
7. Grading, coding, marking and credit

accumulation systems are some of the
examples of—

{1} symbolizing position of children in
the class

(2} depicting the academic progress in
report card

(3) scoring procedure of assessment al
learners’ achievement

(4] evaluation procedure of answer

gheels of the examination

B. Assessment aof learners’ achievement
helps the teachers to—

(1} evaluate the
pedagogy

effectiveness of

(2} make ability grouping of learners in
the clazsrooms

(3] prepare activity log for teaching

(4] maintain the performance record of
learners

5. Rup srem PERm =ml B ooR-u feed
4 fawrfaa ®t swe g @dl B owe aqam
T E—

1) Fefrs famme fals
(2) Fweem fercin fafa
(3) T =g s fafa =
(4] FR w7 ) f=la w
6. ‘T A wiEgen A R = Fom wEE
Fa ¥ w8 TR e f E—
(1) Affrem ok wrgatss oo @
[2) Tfirem ue et s B
«(3) BT T AT FEa
(4) S v i e B
7. OEm, =iEn, s 3R wie dam wwiesl
_ HFeEmEmi
(1} wen & g=5 ) Faf & fem G
(2) wrehe-vn (foord wrd) A s wiE
e
_13) it f oaeet F owwes 6
o -l
{4) e F TW-TH E YEaia ) afEm
8, w9t = swem s 6
HEW] O —

A1) Tem-wirm fafim F gl W=
qEaiR W

(2) ®ans A WirEEAIR F aEE W
T #

(3) T & fer vivfalee 6 g bam w0 4
(4) wferrrRala & werla W fretd e A



)

. Inclusive Educalion s bazed on the

principle of—

(1} equity and cqual opportunilies

i2) secial existence and plobalization

() warld brotherhood

(4] social equilibriom

10. The Rights of Persons with Disabilitics

11.

ACL has been enacted in the year—
(1] 1905

2] 1999

(3} 2016

(4] 1992

Children with individual dilferences

.should be laught in a school having
teachers—

i1} trained to use different pedapogy to
meet their diverse learning nesds

{2] trained to teach children with
specific individual differences

i3] trained to muake them homao-

gecneous learncrs

{4) to teach in different sections of
classrooms based o1l their
individual differences

9, gaET e % fam w aafm

(1) T Td HEE HEET
(2) sl AEm T i
(3) Tem= =am

(4} TR e

10. fr=apae wysn wiifem =6 4 Em

T m B

(1) 1995

3] 2016

4] 1992

11. =i EEam=d = ==0 Fi =we % fao 1

EC G EREE R e Tl i [ -

(1) Tafay sfrm sl F agen ffim
Tram-wfiry oA w1 owgm =3 A
ikl €l

(2] Fafire =t fafaumadl 2wt =1 1 =9H
% T wlitém &

[3;iﬁﬁﬂmmmn
i i

(4) =t fafyemedt & smm m FiE R
TR w5 e T 8 e E.



12. The Right of Children to Free and | 12. Rars ui wisad s e sfiesn stffo,
Compulsory Education Act, 2009 2009 F=m a=i & fuges fon F wiesm
ensurce the rights of children with F) g o b—
disabilities to free education {rom—

(1) 3%8 4 18 = 7% % fom

Jf2) 6EYH 14 o nw & fom
i3) 6=d# 22 38 7% ¥ fom

{11 3 vears to 18 yvears
(2) & vears to 14 vears

[3] ©& ycars to 22 years
(4] & years to 18 years {4 6ai@ 18 % 7F F fom

13. Providing teaching-learning materials | 13, Bfy sfmsaisas e gm =99 3

in accessible formats to the diverse fram-afiom wwfind ¥=R w4 W awgd

learners implies— HE

(1} Universal Code of Teaching 11y foeor =i 6 webdfts wfem
Practices

[2) Universal Humamstic Approach of (2) T & iR R i
o |3} s = wEdiE waE

(3] Universal Design of Learnin
- < [4) wrE i waEI e & A e
{4} Universal [nelusive Education

Ethical Considerate ;
14, WETHST T8 BAETEE G w e,

AH—T= EA, FHE 0 S0 T

14, involves seclf-awareness and TR # wafifea &)
control of cognitive abilities, eg.,
planning, reviewing and revising, ectc. 1) e
(1] Metacognition 12} ¥R
(2] Cognition 3) 3
(3} Accommeodation ) 52

(4] Centration
15. 99 w=t w1 ) T gEaE f = T

15. When children think to interpret the fore w9 sl & snum @ AR §, @ I
received information according to their =91 7 2
experiences, it is called— E—
: w4
(1) creative thinking (1) YA
[2) abstract thinking (2) ¥ o
{3) concrete thinking i3) T W=

(4) reflective thinking (4) whfrmad @



16. Teaching learners at varying levels of

17.

18.

19,

difficulty based on the ability of
individual learner 15 known as—

1] selective instruction

(2] precision teaching

(3} errorless instruction

(4] differentiated instruction
Maintenance is the specific stage of
learning which is anlecedent to
stage of learning,

(1) motivation

(2) independent

(3) generalization

(4] acquisition

Zajonc believes that cognition and
emotion are—

{1) independent

(2) interrelated

{3) integrated

{4) interdependent

A teacher is teaching children by
demonstration of a task to correct the

performances of an already learned
task. He is using method of

teaching.

[} observation
(2] correction

{3) modelling

(4) imitation

16. R R oIk R L (e

sfred| & fafim = F1 e A T g T
fAfuw % E e

(1) PR
JA2) wdE Tam

(3) TR srgam
(4) faid) s

V7. whr s e ffe S s

¥ sm ) g B
o(1)

(2] SRR

(3] s

(4] sfiEn

18, s s A r Fr A sl vm

Gk

(1) F=A

(2} FFE=EA
43) ThrEA
(4) T=TA

19, 7ew # #W@ g oW A g W F R

e =81 1 wevlA T diEn T ) 9 fem
i fafty =1 wm =T B

(1) ==
J2) TR
(3] wimeam

(4} FFH



20. According to Mann and Janis, decision
maker children analyze the problem,
list the aliernatives and weigh each
optien for its advantages and
disadvantages. His behaviour reflects—

(1) wigilant
(2] outgoing
{3] autocratic
(4) surveillance
21. In thinking, a child as a problem

solver evaluates the truth or likelihood
of statements,

i1) aesthetic
(] abstract
{31 logical
{4] creative
22, The task in which the children get
expericnce while enjoying themselves
15 known as—
(1] consumer type task
i2) producer type task
(3] problem type task
[4) drill and practice task

23. Multisensory approach in teaching-
learning is the simultaneous use of

visual, auditory, tactile and
serises to enhance learning,

(1} vestibular
[2) perceptual
(3} observational

{4) kinesthetic

20, T o Am F wgeEw, folm W WS ws
w1 farerm w8, Freed B g e
£l gk e ol e F v T W
faram wvd ¥ 1 To =TER wEE w0 B
(1) wa®
(2) Fadum
13) Fam
(4] =

21, T TR gunE wm  faen & aoum
Ty ) T=E | HE T gearEE wm )
(1) Hid=m
(2) g
(3) iR

{4) FAAEE

22, fim ffum =@ ¥ T T 9= WY 9EE wh
§U IR 9 E, T e e ¥

(1) I7iE T = =
2y Fmins v
(3) #HETHS TN F FE

(4 &= i spamm =

23, sg-8ad fem-atfirm ) wfafa § wfm-
A ¥ g, W, O i WA
F1 T =y g o
(1) #oi-FR=T
(2] W
(3)

.|4) mifee



24, The development from central part of
the body towards peripheries  or
pxtremitics denotes the—

(1] principles of decentralized develop-
ment

{2) principles of proximodistal develop-
mernt

{3] principles of cascade development

(4) principles of radiated development

25. School iz an institution of socialization
of children where—

(1) =chool routines sccupy the central
position

{2} school activities occupy the cenlral
position

(3} schoolteachers occupy the central
position

[4) schoolchildren occupy the central

position

26. If you join a teacher fraternity and
choose to dress like most of the others
in wour group, you are exhibiting—

(1] obedignce
2] compliance
[3) conformity

[4) group identity

24, it % S wym @ aftfid) @ i $ o=
farwm Toim $—

(1) fodiEa fawm & figm =
(2} me-ama fammm F fagE =
(3) Hmr fem i T
() Fafeot P % faad) @
25. @@ a= ¥ wEEwm # O G we
# =El—
(1) T A w0 R e
() W R T At #5 e R
(3) T v w=EE ¥ e o R
(4) W@ A ) = A
26, 9@ 319 UE e oqe B 93 W #

£
TR F A A F A AR ImE
A B, W osm wesh o o R

ERE
T

(1) wye sl
(2) w Fim-aeEs ®
1{3) YR HTETE

(4) FE ) TEEH H



27. The concept of object permanence is
attained during Piaget's stage of
development.

(1) presperational
(2} concrete operabionad
(3} formal operational
(4} sensorimolor
28, Individualized Education Programme is
planned from the perspective of—

(1] Child-centered Education
Programme

|2} Open Scheool Education Programme
[3) e-Learning Education Programme
{4) Special Education Programme

28, Betwesn months of ape, most

children begin to combine words into
short sentences while speaking.

(1] 18 and 24
{2) 24 and 30
{3} 30 and 36
(4] 12 and 18
30. The concept of Intelligence Quotient
or 1 was developed by—
(1) Binet
(2) Stern
(3) Terman

(4] Galton

27, fisdl T & R w6 wmemmon ol &

{1} TE-fEe
2 o v
{3) st iEes
(4) WEE-THE
28, =fwm fha FEFER F G w we §
il i
(1) =m-Fm v FrE
(2) g P fhan wwEs
(3] %-writrm fen Wi

(4) Tadm Fonen FER

dr=
weE 9 famme BR-Sh S 3 e
Eraec i d|

20, T A #E wfirrn ==
=

(1) 183 24
{2) 24 # 30
{3) 30# 36

(4) 1249 18

30. Tt @ age we A HauwEm A M G-
(1) T % Em
(2) =4 % gm
[3) TR FEM
(4) T % Tm



PART—II / wm—I1
MATHEMATICS AND SCIENCE | fim ity feme

Directions : Answer the [ollowin :
. E questions | ffy . Frsfafimn o e )
aistinns. ! nppropriate Tog e |

31. if two quantities x and i 3 % = v
. y\.ﬁm:nuﬂgtw “il.ﬂﬁﬂﬂﬁﬁ‘fxlﬂ'{yﬁ-{mi e =Y
:_rﬂltlh ¢ach other, then which one of the |  Weh-a99 §, 1t Frfafm 6 % w9-m o BY
allownng 15 irue? = o
(1) T w=lim wr T
(1} Product of their corresponding TR ¥ =
values remains constant.

; [2) % weEfim mE W I weEwnE

(2] Summation of their corresponding T ¢ -
values remains constant. (2) T welim = = oW TEHOE =

(3] Difference of their corresponding TE R |

values remains constant, (4) =% wallm 99 = WA THEEE w5

[4) R:s.lin_ of their corresponding values Tl R
remains congtant, r
92. Given __,f’éll. fom 2
Ty
7
e x6
HEJ HH'EJ'
oy FouE —
Then the value of yis— ? w3
(1) 6 2) 4 2 «181 4
(3) 2 (4) 8 e 14) 8
33. To fill a rectangular tank of area | 33. 700 m? #7%m & s wwamm %= ) vl 5
700 m?, 140 m* of water is required. fm 140 m* & 3 wewsT b 3 8 e
What will be the height of the water #® = A Fam wn By
level in the tank? 1) 20 cm
{;! ig cm (2) 30 cm
CITE
i2) (3} 40 cm
(3} 40 cm
4] 10 cm

(4] 10 cm



34. Which one of the following is the most

35,

suitable strategy lo teach the skill of
addition of money?

(1} Eole play

(2} Use of models

(3} Doing lots of problems

[4f Use of ICT

After teaching the concept of multipli-
cation to her class, a teacher asked her
children to multiply 48 by 4.

One of her students solved it orally
as "To multiply 48 by 4, we first
add 48 to 48, which makes 96 and
then add another 96 to reach 192. So,
the answer is 192",

What can you =say about
strategy of multiplication?
{1} He/She haz not understood the
concept of multiplication.

The given problem is a multipli-
cation problem and not addition
problem.

He/She understood multiplication
as repeated addition.

The child used a wrong method to
multiply. He/She has to use the
place value algorithm to multiply
the numbers.

his/her

12)

(3)
(4)

Which one of the following should

be taken up as initial activity In

introducing the concept of Ttime’ to

voung learners?

(1} Teaching children how Lo read time
in clock

(2) Teaching children how to calculate
elapsed time

{3) Conversion of time in dillerent
units

(4] Discussing about the prior

experiences with phrases related
to tme

35.

36.

ﬂiﬁﬂ%ﬁﬂﬁﬁﬁi%ﬁlﬂﬂmﬁﬁﬁ#

Ferm wed e T W B
(1) T @

[2) w0 T

(3) =Ea AT FEE T T
(4) g Hle fo w7 FTEM

Agf) Fan F M A I F A F e,
ww fsE 3 o9 =1 4 48 F1 4 A 7 w0
w |

w oo § A TE 7 W@ dfEws W R o
fom, 48 1 4 F 7 w3 & fom we wed 48
g 48 wgq B, g 95 = ¥ #R R
ag ¥ Azd §, W@ 102 ¥9E ¥ @ =R T
1928

m F oIEE wEfd oA A W s o
i BF

(1} 7@y ) s wem 8 a9 e R

(2} A 7§ =muEm uw oo mEEn § AR am
T TR

[3) FHA T W) AR-AW A E w9 R

J(4) T= A T A F T e i e awn
frn ) wEnsl @ o owA F fm oA
A 7 TSIER 39 e aie)

=) %) wEA' ) =Y F1 TETEd 94 &
o anfis nifEla % v 8 fefafes 4 8
FA-H £ 7 wien?

(1) T= W oTEE TF T A owE R W

T
(2) #=i W e B AR woww o
W

{3) fafim sl 4 |98 = s 99

(4) 991 B FEHA AT WY Y FVE
it & == we



37. Which one of the following is net the
purpose of assessment?

A, Monitoring student's growth
B. Making instructional decision

C. Ewvaluating the
curriculum

effectiveness of

D. Ranking the children baszed on
performance

Select the correct answer using the
code given below.

(fy D
i2) B
(3) C
(4} A

38. Which one of the following methods is
most suitable [or teaching mathematics
at upper primary level?

(1} Lecture method
{2) Activity-based learning
(3) Problem-solving method

(4) Demonstration method

39, Which one of the f[ollowing i3 most
essential in learning mathematics at
upper primary level?

(1) Exploring different ways of solving
4 problem

(2] Memorizing all formulas

(3) Copying correctly what teacher

writes on the board

(4) Solving a‘problermn many times

37. Frefaian 4 8 w9 -m e w1 st T by
A, o % fwm § feeeh s
B. s fvig o
C. WIFEEHR i WTEEIE 1 i
D. WEEW % YW 9 == w1 R e
= fim m 52 = oW = A I gy
(1) D
+(3) B
i3) €
[4) A
38, 3| s @ W hE wge % o et
B 3 FE-H & F= wiis 3w 17
(1) == faf
{2) nfafafa-smafm wibr
(3) o -mmaE faly
(4} westa fafl

39. == wnfts w oW fm wftm % fm
Freffian & & FR-m wan sfis s A7

(1) Tl e =0 59 w0 % Rifm o
EREC

i2) w & * AR Fn

(3) s 9 = S BEm R, R AR I R
TR

(4) TH HEEN W w4 T




40, The strategy of questioning used in the
mathematics class at upper primary
level—

(1) makes the classroom noisy as the
children would be talking too much

(2] could create stress among children
and may lead them to accept the
teacher's authority

(3] helps children to express their
thoughts or understanding and
think critically

{4) should be discouraged as it
demoralizes the child who 1s unable
to answer

41. A teacher has taught measurement of
area to class VIII children, but many of
her students are confused between the
usage of different units of area and
volume. What could be the reason for
guch a confusion in children?

{1) The children have not memorized
different units.

(2) Different units have been
introduced  all together without
relating them with their daily life.

{3) The concept of measurement of
area is a difficult topic for a
class VI learner.

{4) The children did not know the use
of units for area.

40, 7= TUE T W im 5 &
Fieft g & R — kb

(1) mﬂmmtaﬂﬁmr@

TS A9 Fi

(irﬁﬁa&aﬂqﬁﬂmmma
fas & wlien % w50
AL L HeFAl

#n
ET

)

=5

A3) w=l F I fEEn W wEE s\ e
AT 0§ =T § WeE w8

(4] =1 wEiEd S S WiE 98 3| 9=
=1 A TEE B S oI e | e @

41, ok foew 3 w1 VI F o= 9 SE9E O
o 2, @i % =4 o da%a i s
) fafim g & oo F = w6
Tt 3 T8 WE ¥ WA T A wE R

(1) ==t A fafirs gma) &) 9 o fFm d

(2) eEm-AE Tl S TR LR A @
m{? frn fam oft =t o W A
gy &

(3) =en VI 5 faened % o dees a6
U U FisA Tamm 2

L4y ==t T fmwa 1 gEdl w1 3gam T
ST &0



42. Which ane of the following can be the
most appropriate aim of encouraging
mathematical communication in
classroom?

{1] Children whe have fear about
mathematica should be ahle (o
interact in the class

(2) To organize debates in the class
regarding topics of mathematics

13} Children should be able to recite
theorems and formulas in
mathematics class

(4] Children should be able to use a
precise  language while talking

about mathematical stalements
and using them

43. The purpose of a diagnostic test in
mathematics is—
(1) to give feedback to the parents
(2) to fill the progress report

(3] to plan the gquestion paper [or the
end term examinaticn

(4} to know the gaps in children's
understanding

44, Remedial teaching is helpful for—
(1} recapitulating the lesson
(2] teaching in play-way method

[3) removing learning difliculties of
weak students

{4} teaching the whole class

42. = A it afEm 1 vrefia el
T T Freafatm 4 4 S9m B v b

(1) 7 B =0 9% 951+ v @ w9 §
A (s 3 wem g i

[2) 7w & fawd & at § wa § =mm
SETE FA

{3) w=i i R A wen F v oG E
A | Ay

43, MR & T lem = T —
(1) wr-fan = wfafem
{2) wifs T s

{3} sfm el 6 o & Be g 6
T FHH]

«(4) =3 ) mEm A i T

44, ITENAE THEm wRee p—

(1) 713 9 g ¥ g
(2) wa-wrl fafl g foem & fm

v(3) wER o ) dEy R shE S om
A &

(4) 70 e W T fomy



45, Which one of the following is not a
mathematical process?

46,

(1)

(2]

(31

4]

Memorization

Estimation

Measurement

Visualization

“Errors play a crucial role in learning of
mathematics." This statement is—

(1)

(2]

i3

{4)

true, becauwse errors refllect the
thinking of child

false, because mathematics is exact

true, because errors provide
[eedback about the marks they
obtained

false, because errors occur due to
carelessness

45, fimfafim 3 4 SR-d w ok
=t 37 whm

(1)

(2) FEA

[RIEILE

(4) WEHETA

a6. " die A Ffel v e v f

21" we e —

(1) =, it gl 7= f 9= o R

{2) s, =i ofm a2

(3) W, wHifs el ww s F oaw #
wfiafEn wer wol §

(4) ST, T T wEn Rl we e



47. While teaching ‘shapes’, a teacher can

48.

plan a trip to historical places, as—

A. il needs to provide leisure time as
most of the syllabus has been
completed In time

B. J:.L would be an opportunity to
Immprove cormmunication skill

C. shapes are an integral part of every

architecture and such trips
ENCoOUrage connechons  across
disciplines

D. field trips are recommended by
Education Board, so must be
organized

Select the correct answer using the
code given below.

{1} C

(2) B and C

(3) A, C and D

(4 A and B

A student was asked o calculate the

surface area of a cube.

He calculated the volume.

The reason{s] of error in calculation

is/are—

A, the student fnds the rclass
boring as he doez not like
mathematics class

B. the student is not [it to study in
that class

C. the student 5 not able to
understand the concept of surface
area and volume

D. the student has understood the
concept of surface area and volume

Select the correct answer using the

code given below.

(1) B and C

(2) D

(3) Aand B

(4) C

47. ‘mrEn' ggn gma, v fhes theie e

=1 T A A Hwe ) wiE—

A. FEET T TR RA OH srEvEm b
WikE At wamEy 98 WO B
o B

B. W #WR F0E § GUR F4 W SEE S

C. N B EnEEen ®ouw afim el
i o N aand Rl A owEe R
HieATEd Fd &

D. e s 3w dz fn f fowim
T §, IAE THE WA 3w
F wfen

A fm 2 w0 W = wE I R

1) ©

2 BHRC

{3) A, CHRD

4) A B

48. TF 71F ¥ UF U4 £ 79 7 £aws Feen &

Fira e T wn
I+ ¥ FEwE
e A g T R E—

A, @ FE F OIAFH U P, HiE @ it
f) wen wEe 9 3

B. 96 I %1 A anagm e &
et EXE 2

C. O AR %1 H9%s 30 ams 6 armgmm
1 HAEH ¥ ReEy T R

D. U 598 51 83%a &N g i saamem
1 THE T B

2 fow e 5= = wom W= A I g
(1) B#HRC

(2) D

(3) AsimB

4 C



49, In a meeting, % of the members were

female. What percent of the members
was this?

1) 24%
2) 16%
3] 4%
(4) 40%
50. A shop reduced its prices by 10%.

What is the new price of an item which
was previously sold for ¥ 5007

(1) ¥550
(2] 450
(3) T400

(4] 510

§1. Given below is a data set of
temperatures (in *C) @

_ﬁ! _Er -EI 3| 2| Di Ep 4. E
What is the range of the data?

(1) 16°C
(2) 1B°C
(3) 10 °C

4] 0°C

49+%iﬁﬂ,'ﬂﬂﬁl'iﬂﬂ:_5qﬁaﬂﬁ1“
wEE W T whm

(1) 24%
12} 16%
i3 4%

4 40%

50, UE M A 3 wwal d 10% ) w6 e
WHRA % T Swd T E, | o £ 500 | =6
iR

(1] #550
. (2) #450
(3) 400

(4] T510

51. A AEEE (20 ) W w2 g2 fam o b

B, =8 =28, 2.0, 5. 4, 8
221 w1 ufvey = 27

A1) 16°C
2) 18°C
(3 10°C

{4) 0°C



52. A coin

ad.

54.

55.

15 tossed 10 times and the
outcomes are observed as

H! TI H: T! T! HJ H| T.- H. H

(H iz Head; T is Tail)
What is the probability of getting Head?

4
W
HE-
2
2 =
”5
1
0] e
”5
3
| R
1]5
3 -7 _25
Th u al sk
e numerical expression ?+ e

shows that—
(1} rational numbers are closed under
subtraction

rational numbers are closed under

multiplication

(2}

rational numbers are closed under
division
rational numbers are closed under
addition

(3}

[+

Which one of the following 3D shapes
does mot have a vertex?

(1) Prism
i) Cone
(3) Sphere
(4] Pyramid
4 -3 Su-2
H(E] x[-sr] -_~[§) : , then x is—
T 7 i
2 3
(1} g (2) z
4 1
i 4] =
13 s (4) s

52, vH fme 10 90 IowEn @ & o uiom
T A= fee wE R

H, T, ],7F 7% H, 1, 1, H; H

(Him b Twd)
ferm wm = ) durE = R
<
2 2
) <
) 2

_IETP Esﬂmﬂﬂ'ﬂﬁ—
7 B8

(1) qﬁﬁﬂm'ﬂﬂﬁﬂﬁimﬁﬁﬂ?ﬁ%
(2) whds dend e & i H#aE R
(3) whtim wend fvres % el gam o @
(4} wftia Hend 4n % sl e i §

54, Freffan aD sehE # @ fewd o

Uﬁzmm

B 87

(1) firem

(2) E

«(3) TiEn

(4} faefiz
5 4 5 -3 ~ i L .

55, Irﬂ[E] x [?} _[?] A ak

2 3

(1) = «(2) =
4 1

{3) = (%) 3



56.

a7.

58.

Let &, b, ¢ be three rational numbers,

where a=%, h:g and n-_?ﬁ- Which

3
one of the following is true?

(1) a<{b+c)mb+{a+c)

(2] a+[bt+ec)=c+la+b)

13} a-{b-cl=c~{a-b)

(4) axib+ec)=bxla+c)

A geomelric representation, showing

the relationship between a whele and
its part, is—

(1) pie chart

(2) bar graph

(3] pictograph

(4} histogram

Il g 18 the square of a natural
number p, then p is—

{1) the square root of g

(2] equal to g

(3] greater than g

(4} the sgquare of g

The value of 1,'|‘§-II -..."?.[] +4121 is—
(1) 10 (2] 11
(3] 12 4 @

In a park, 784 plants are arranged so
that number of plants in a row is same
as the number of rows, The number of
plants in each row is—

(1) 28 (2) 38
(3) 48 (4) 18

P
B9, Y91 +T04+121

. WY a b, o W ok ot 4,

a=2 h-—-:ﬂ"lt ::-a-—?!ﬁ'q‘%ﬁaﬂﬁil
a?n-mm‘é!?

(I} a+lb+cl=b+{a+c)
(2) a+ib+cl=c+la+b)
(3) a={b-c)=c-|a-b)

(4) ax(b+c)=bx[a+c)

57, e frewm, = R ok TEE b b

Ty feEm 8, —
(1) o =

(2) Fv2 W
{3) Taa

{4) feeium

58, i gk wElE T p W AL, A pi—

(1) g +im

‘(2] g% W

(3) q® 77
(4) g = @i

21 1 WE A—

«(1) 10 (2) 11

{3 12 4 9

60. T WE #, TR4 U =wafEm fev 9@ § wfe

ufts A dil it wEm, 9 e F e
| e e & el w2 —
(1) 28 |2) 38

() 48 (4) 18



61. Which one of the following is not a

62,

63.

64.

product of petreleum?
(1) CNG

{2) Paralfin wax

{2] Bitumen

4] Kerosene

REed Data Book contains a record of—
(1) extinct species

[2) flora

[3) fauna

(4] endangered specics

Why are the soles of the shoes treaded?
[1] To decrease fricticn

(2] To increase {riction

(3) To increasze life of the shoes

(4) To give the shoes mere protection

Sarika took distilled water in a bottle
and tried to find whether it conducts
electricity or not. What is she likely to
find?

{1) It is good conductor of electricity,
[2) It is an insulator.

{3} It is poor conductor of electricity.

(4] Mone of the above

61. Fraferfiaa 4 & #*R-m Wifsm = e

T B
(1} #Hle THe e
(2) TTfER =W

3) g
(4) = im

62, EEnaw __ = f=id tanl £
(1) Taggm wariat
|2) el

{3}
4] FFEITIR TATEE

63, T ¥ HIT EATE w9 T A A
(1] 5= 721 & fim
+(2) = wgm % fom
(3] 59 W e agH &
(4) 53 % 3w 3 F T

64, T A
TE 1 39 T AW R T B
(1) = g =1 g B
[2) T® wF FREED B
-12) T T = wEEn ="
(4] Twfw & & Fi 79

WA WA UF Amw A fom almowm
wH Ft i R w g gEes 2



65. Which one of the [ollowing statements

15 mot correct?

(1) There is a maximum limit of
current which can safely llow in the
electric circuit.

[2) Fuses are inserted in electric
circuits of all the buildings.

(3) Il_ the proper fuse is inseried in a
cireuit, it will blow off if the current
15 more than the safe limit,

(4} There is a minirnum limit of current
which can safely flow in the electric
circuit,

66. Which one of the [ollowing places is

most likely to be affected by a evelone?
(1} Puri

{2} Mumbai

[3) Goa

i3] Porbandar

67, The change in secasons on the earth

accurs because—

(1} the axiz of rotation of the earth is
tilted with respect to the plane of
its orbit

(2] the distance between the earth and
the sun is not constant

[3) the axis of rotation of the earth is
parallel to the plane of its orbit

[4) the axis of rotation of the earth
is perpendicular to the plane of
s orbit

65. F=EEd 8 4 Fh-m w7 w7 b7

(1) T fagn i &

e *
mﬁmumaﬁmﬁiﬁﬂmm s

(2) wh wE ¥ fgy e §
i Ll

(3) @i gimy | A,
Eﬁﬁﬂmﬁ?{%{;ﬁ'@ T TR
32 = |

(4) frl Tarq wiow 4 woiem wafis &9 &
feem farggn e & =g & R

66, Frefafies & 8 fen wm F wwm 2 T3

67.

A1) g =

U= TR BH F1 F9ET BT
(1) g8

(2) goag

(3) i

(4]

Deail o s e ¥, wEife—

WY T TN A & A
L EaN SR

(2) g ot g % e R g T

(3 9ell W R sy R S F AR F
T #

(4) e W ogUR WE IES R R T W

ol



68, There are two columns, Column—a
and Column—B :
Column—A Column—B

{ij Dead plant and
animal Ussues

la] Canopy

(b} Decomposers (i} A wild animal

el Humus [iti) Microorganizm

(v} Branches of tall
iree

Which one of the following is the
correct sequence of Column—B far the
given sequence of Column—A?

[d} Porcupine

{1 {ik, (iid), (3), {iv)
(2) (i), (ev), (i), (i)
13) (v, o). 1), (1)
(4] {3), (iF), (i), {iv)
69. Why is formative assessment important
in science?

(1) It helps in developing scientific
temper in students,

(2) It is diagnostic.

(3) It helps in better understanding of
science,

(4] It is easy to conduct.

68. T TV, FEM—A 3 wy—R RBumr g

FEA—A wrq—R
{a) @R [i) W SR AR E
oA
(b) wTEZF fii) w Eref g
(c) T fiif) HEEEE
id) | fiv) =% 3% 6 wmEn

Frerfisfrm § & #i-m fon o w—A § #
 3rEn YR w1 @8 F9 EnT

(1} @, G, G, (iv)
(2} i), (iv), (i, ()
3) G, (i), G, G

(4] (i), (1), (itd), (iv}

69, R A 1= arwmen w1 geed

(1) 7 Fenfdt & AP geem 3 R 8
e B

12) % Femm B

i3) ?hﬂﬁmmﬂﬁwﬁﬁm
|

(4) T TN AW B



70. Why are science fairs organized in

T1.

T2.

schools?

{1} Tu_: help the students to score
higher in their examination

{2} Ta nurture creativity and
eXpenimentation in science among
studernis

(3} To evaluate students on the basis
of their performanece

(4] Te prepare students for higher
education in science

As a teacher, which one of the [ellowing
du_ you find most appropriate for
scientific approach to teaching?

|1} Show the use of technology for

teaching concepts
12)
(3)

Give projects to the students

Aslkk the students to perform
activities related to the concepts

(4} Clarify the students

concepts in the class

aboul the

According to NCF-2005, “good science
education is true to Lie". What does
this mean?

(1} Science should be able to engage
the child meaningfully.

(2) Science should enable the child in
learning the processes of acquining
scientific knowledge.

[3) Science should help in living easy
life,

(4] Science should prepare the child to
the world of work.

70, frawd 4 fom 9 oW swem oW S

T1.

T2,

amm B

(1) franfid) = =8 wfim 3 @=3 5= m
4 A "Emm W % fm

(2] Thenfda 4 Tgm # 999 @ wWE w=E 9

W o e we & R

(3) fomrfiid = 9% TR OF o w
TR A o

(4 Fsnfia # fems @ 3= fosn & R dam
i feom

o = & 9 faafolae § 4 58 s fem
i s Fam & forr vl oo e 7

(1) wEumms & fem ¥y sl =1 oS
feagrn

(2) Fenfdn =) ofgmmmi 33

(3] wEwmeman B wEfa Rl

Tt & wran

(4) TheriliE =1 w8 wsumma S e
Eac

THe Hle TEa-2005 & . Tame
gtmmaw%ﬁarﬁqmﬁ‘rm | T wn o
T

(1) Toem were %) wdml 20 @ s 0§
A4

(2) FEm T w Ambs e sfie w6

wiFna i ey T e
(3) Tomm s ofm = e 8w f)

(4) foam a=s = w9 6 g § = i
A |



73. Which one of the following is mot a

74.

75.

quality of scientific attitude?

(1) Curiosity to learn more

(2} Objectivity in approach to problems
(3} Hard work

(4) Open-mindedness

Hari wants to teach the circular mation
to class VI students. Which one of the
loliowing will be the best method?

(1} Activity-based teaching
(2} Giving examples
{3) Demonstration

(4} Discussion

Which one of the following is an
important aim of learning science?

(1) To collect the information of

science contents
{2} Te imbibe the values of honesty,

integrity and cooperation among
learners

(3] To help the f[ellow colleagues in
getting knowledge of science

(4) To get knowledge of science

74, 7 TN VI % fiwflE w1 oqois
-4t wEd

73. feffan § § W-m Anf ofewm = g

eLill ]

(1) i HiE I

(2} wwensdt & of sEEn § s
13) == =d

(4) gen Hfe

T
=M ¢ Prafefas 4 & o= =t

fam wrfi

(1) wifnfafi-smnfm e
(2) FEEW

(3] wasiA

(4] ==

75, Fefafan 4 & w-m faam ofim =1

qEm=ge 3y 27
(1) Tem i Fmaeg 6 sl el o

J(2) wemmAEAisl § foEer, s ain
HEAM % el Wi

(3) W9+ wEqTaal % fagm = I i w5
H HErE w1

(4} T = R afia =



T, The

TT.

78.

continuwous and comprehensme
evaluation in science means—

(1) more freguent
examination

Lest and

(2] routine activities and exercises to
assess learning

(3] evaluation of all aspects of science

4] summative
E.E-EE'E‘EITI.E.'[]_L

and formative

Which one of the following iz not a step
of problem-solving approach?

(1] Attermipt [0 solve

(2] Drawing conclusion

{3} Observation

(4] Visualizng the situation

Which one of the following is a step of
analogy strategy in science?

{1} Presentation of abstraction

{2} Interlinking concepts

[3) Application

4] Map similarities

76. TEF % qFEA B HA0 TS WAD IEUiEA w0
a p—

(1) sl sadl Al= @ w0

(2) it F swan ¥ A e s
s

(3) Taam & wd wegedl = geEEa
< (4 aifim TE T T
77, Freafian 8 4 #R-m wwE-aaaE &
TF = A BT
(1) SRR S W
12} T Frarem
13) T

A4} feufa &t 7w w2

78, Fefafan 3 8 $9-m T 4 s i
T UF =0 B

A1) S T
(2) s@Eumma ¥ ww-gE # e
(3} Iwm

(4) woE@E = fEEm



79. The

Bl1.

82.

83.

84.

longest snakes found in the

world are—
(1
(2]
(3)
(4]

anacondas

boas

reticulated pythons

vipers

Yoga is done by the people in the world
because—

(1} it keeps people healthy

(2] it increases hunger

(3] it brings happiness

(4) it is a simple exercise

The vaccine far Was

discovered by—

(1} Eobert Koch

(2] Edward Jenner
(3) Alexander Fleming
{#)] Ronald Ross

smallpox

Which one of the following is used as
preservative?

(1) Sodium benzoate
(2} Ammonium sulphate
(3] Sodium chloride
{4} Copper sulphate

Yeast is used for the production of—
(1} curd

(2] sugar

{3) common salt

(4] alcohol

Mitechondria : ATP :: Ribosome : ?
(1] Fat

{2} Protein

{-'E{] Vitamin

(4) Carbohydrate

9.

B8O,

a1,

B2,

B3.

84,

HEW A 91Y A a9 7w w1 R

(1) T

(2) W

(3) FIER ST

(4) dTFH

T & & 2 @ R = R, w=E—
(1) oe =i e e

(2) ¥ V@ w2

(3] 7 ghmal 7 B

(4) we um e s

S & ek W wilEe % g T
(1) Ti=2 =W

{2) EEd W=

(3) TR W

(4] THTEER TH

Feitag A 8 faem 39 o gfos® % g
1 forn = 27

(1) Hifzgs weng

(2) amitfoen el

(3) Wik ==

(4) FI9 TR
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{1) =A

(2) =

(3) awm 5=

(4) TFEIET

AR : To Hlo Hlo o TRAEW : 7
(1} =#0

(2) &R

(3) Taziim
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B5. Il the frequency of a simple pendulum
is 2'Hz, how many oscillations will it
complete in 16 seconds?

{1} 1a (2) 32
{3) &4 4) 8

86. Which one of the following metals
burns if kept in air?

11} Magnesium
(2} Zinc

{3) Aluminium
4] Sodium

87. Magnesium hydroxide [Mg(OH},] is
used ag—

(1) reducing agent
[2) ant-acid
{3} fermentation agent
[4) oxidizing agent
B8, Which one of the follawing gases burns
with pop sound?
(1} Hydrogen
(2] Nitrogen dioxide
(3) Sulphur dioxide
4] Oxygen
B9. Which of the following is/are example(s)
of non-contact force?
(1} Muscular force
(2} Gravitation force
(3] Magnetic force
(4] Both (1) and (2]

90, Diabetes is
hormone.

i1} adrenaline
12} insuln
[3) thymosin

controlled by

[4] thyroxine

§5. 92
15%?%@ ?mﬁ'ﬁ“
(1} 1& i2) 3z
i3} 64 14) 8
s i 4
B6 w 'ﬁ?ﬁﬂlﬂ'ﬂ@ﬂﬁrﬁﬁmm
(1) Beftfirm
(2) =&m (fa)
13) Trgffrm
(4] wifzam

B7. Wiifimm wEgiemes  Mg(OH),] F1 3Wm
__H EN A T A R

(1) o=l F=EF
(2} wH-3=
(3) fiemss won
(4] e
a8, Fmfafae 4 4 she-d | o | wf &
Fedl f
(1) TregeA
(2) TR LR
(3] WEH BT
(4) siwd==

89, fofefm 4 4 ¥R-m/2 e = W%
TaTe B fE?

(1) Wity w=

(2] TEeTEET W
(3) e
(4) (1) s {2) T

90, wyae i fm wieE Tm it dm B
(1) gt
(2) T
(3) wrgHifEa
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PART—IIT / aT—III
SOCIAL STUDIES/SOCIAL SCIENCE [/ mrarhrs stwaas famafsas fmm

Directions : Answer the [ ollowing questions
by selecting the correct/most appropriate
nptions.

31.

J2.

33.

34,

A narrow strip of land joining  two
landmasses is known as—

(1]
(2] island
[3] bay

{4] strait

isthmuns

Which one of the fallowing continents
Is smallest In =siza?

(1) Bouth America

[2] Africa

[3} Europe

(4] Australia

Al the upper pomary stage, Social

Srience compriscs of

(1) History, Geography, Fconornics,
Sociol oy

2] History, Geppraphy, Political
aoience, Econaniics

[3) History, Geography, Political
Scicnece, Sociolopy

[4] History, Creggraphy, Folitical

Feience, Psychology
Induclive learning is contradictory to
which one of the following approaches?
1) Structure training
[2] Simulation
13) Mastery learning
(* Expesitory teaching

A frefafim v % 30 32 & f w9 T
T fawe g

31.

32,

33.

34,

=E T U= WD 90, 9 2wl ety e
AL A AE b, 2 e
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45. Read the given statements A and B and

aT.

38.

39,

gelect the correcl answer !

A. Critical thinking promotes the
building of concepts, application
and expansion of ideas.

B. It dous not help in understanding
and cvaluating arguments and
beliefls of others.

A is false and B is true
Both A and B are Talse
Both A and B are true

i
(2)
(3)

[4) A iz true and B is [alse

What is an empirical evidence?
(1} A numcric approach for research

[2] Data measured in metric units

[2) Data pgathered using reliable
methods of data collection

[4) Data gathered in the real world
through the scnses

The  models/replicas of physical

features are moskt guitable for

teaching—

(1] Economics

(2} Geography

{3) Political Science

[4) Histary

The ecollection of weather information

fram the local newspaper is an example
of which type of source?

{1} Primary

{2} Secondary

(3] Tertiary

{4 Both primary and tertiary

In which type of classroom, the

students with learning  disabilities
learn alongside other students?

{1} Special
(2} Inclusive
(3] Modern
(4] Exclusive

35, fr o wwdl A v B 1 wRw o wh mow

a6,

37,

38,

39,
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40. Who has given the following theory?

“All children go through the same
sequence of development, but at
different rates. Therefore teacher must
plan activities for individual children
and small groups, not just for the class

as a whole”
(1} D. Purcell
{2} J. H. Bell
i3] J. Fiaget
(4] C. L. Ogden

41, In order to promote cooperative

learning in the classroom, a teacher
should—

{1} give them individual projects

[2] divide the class in amall groups for
work

{3} provide them various sources to do
the project

(4] enpage students n debate and
digcuissions

42. A self-guided, self-disciplined thinking

which attempts to reason at the
highest level of quality in a farr-minded
way is called—

i1} complex thinking

{2) intelligent thinking

(3] abstract thinking

(4) eritical thinking

43. The colours used in the Ajanta Caves

Paintings have been derived from
which of the following materials?

{1} Graphite
(2} Plants and minerals
(3} Slate

{4) Remains of animal organs
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a4,

46.

47.

48.

The earliest manuscripts were written
on—

(1} stones
2] paper
(3] wood
(4] palm leaves

. Which one of the following periods is

longest in the human history?

{1} Mesolithic

[2) MNeolithic

(3] Megalithic

(4} Palaealithic

Read the given statements A and B and
select the correct answer :

A, Mehrgarh is located in a fertile
plain near Bolan Pass of Palastan,

B. Evidences of farming and herding
are found here.

{1} A is false and B is true
(2] Both A and B are [als=
(3} Both A and B are true
{4) A is true and B is [alse
In which one of the following States of

India, the largest number of Harappan
gites have been found?

(1] Haryana

(2] Gujarat

(3} Jammu and Kashmir

{4) Punjab

‘Rig Veda' was originally composed in
which one of the following languages?
{1} Pali

(2} Sanskrit

(3) Prakrit

(4} Brahmi

a4, wad gl wighalml o fird ud o,
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(1) T 18
(2] I FTE
(3) HETTE FE
(4) TETE™

46, fin = A 3 B 91 wfgw @R W T oW

=g i

A IEom oiEER F den H o W TR
TrarE fzm 3 fEE R

B. e a s wymer & ma wm i R
[1) A ¥HEE AW B 854§

i2] A 3 B 2 wam B

[2) A *lt B9 & 2

(4] AwE R ¥ B AW

47, vma & Fafafam o=t 7 4 &9 = = B

TR T A W= we 1 e
{1} e

(2)

{3) = i Fn

(4) Ta @

48. ‘T §@ = @ Pe=fafen | 8 fea v B

= T A
(1) W
[2) #=F
(3) W
(4) wE



49. The first ruler of Magadh
) i
Mahajanapadas in the sixth c-:E;turJ.r

BC wasg—

50.

al.

52.

(1) Prasenjit

[2) Bimbisara

(3] Ajatashatru

(4} Mahavira

Which ene of the following is not
among the three jewels of Buddhism?
{1} Dhamma

(2] Ahimsa

(3] Bangha

(4] Buddha

Who among the following elects the
Rajya Sabha Members?

Voters in Parliamentary Constitu-
encies '

(1)

(2) Lok Sabha Members

Members of Legislative Assemblies
(MLAs)

(3

Voters in Assembly Constituencies

()

Which of the following systems of
government was adepted by India?

{1} Presidential and Federal
{2} Presidential and Unitary
(3) Parliamentary and Federal

{4) Parliamentary and Unitary

49,

51.

52.

o T T OqE B WY WEEATE ¥ upn
NEF G

(1) W

(2) Fafemm

[3) ey

(4) HEMEN

frefftrn 2 @ FR-m dg-wd F fee 4 9
w27

(1) W=

(2) e

(3) 59

(4} =

Frafafan & & # Temgn @EEl W PN
RG]

(1) wHam Faf=-46 % v

(2] A AR

(3) fawrmn & wem (faums)

(4) Fyrms FEE-a8 & g

wia w0 fefefen 7 8 fm e aeEh ®)
AT T

(1) Tgafa sy weha

(2) mEEl i wEes,

{3) e ain i

(4) wada i TR



§3. How many Parliamentary Constitu-
epciea are reserved for the Scheduled

Castes?
1) 84
2] 47
{3 74
4] 48

E4. Which one of the following Funda-

mental Rights iz wviolated due

practice of unteuchability in India?

(1} Right to Freedom

(2] Right against Exploitation

Lo

[3) Right to Constitutional Remedies

(4) Right to Equality

55. As per the Constitution of India, which
one of the following 1= not a Funda-

mental Right?
(1] Right against Exploitation
{2} Right to Freedom of Religion
{3) Right to Property
(4} Right to Education

56. Untouchability refers to
discrimination on the basis of—
(1) gender
{2) caste
{3) race

(4} physical disability

57. Who appoints the Chief Minister?
{1) The Prime Minister

12} The Governor

the

(3] The Chief Justice of the High Court

(4] The President

e §7
(1} 84
(2) 47
3) 74
[4) 48

54, wia § wEgEm v E wnm FEffn § R

frn e wifirem w1 2g9s fen = 1Y
(1) wadEm = AR

(2) i % farsg wifirn

|3) wATR I s

(4) FEETT U

55, WA ¥ @fauR F oagen, Pefafa 2 A

P difers st =l &7
(1) wivem & fawg sl
(2} wd R A = e

(3) = w1 s
(4] Then =1 siieEm
56. WEgEA i auR W iR =i
W R
(1) fan
(2]
(2) ==
(4) e S
57, qErEt w WR Faw s
(1) wa)
(2} AT

(3) ¥ TEE % E A
(4) Tt



S8. Who appoints the Gevernor?
{1) The Chiel Minister
(2} The Chiefl Justice af India
[3) The President

{4} The Prime Minister

59. Who elects the Prime Minister?
(1} The Chiel Ministers
(2] MPs
(3) MPs and MLAs

(4] The Council of Ministers

60. Who among the following is called the
first citizen of India?

{1} The Home Minister

i2) The President

[3] The Prime Minister

(4) The Chiefl Justice of India

61, Who among the following is called the
first citizen of a State in India?

(1) The Home Minister

(2) The Governaor

(3] The Chief Minister

{4} The Chiefl Justice of the High Court
62. The current Lok Sabha (from 2014

onwards) is the—

(1} l4th

{2) 15th

(3) l6th

(4] 13th

58, TSUUE A I w87
(1) e
(2) WA T A
(3) e
(4) T

59, WY 1 g w1 w0 8
(1) ge
(2) wiwE
(3) wme afn Eums
(4) w1 ufteg
60. Bt & § fem) v 1 9gen e
WA g i
(1) e
(2) ToEfE
(3) wumEE
j4) vE % e S
61. =i & & e wim & 791 F1 9EE
Tt = = 47
(1) Tl
(2) T
(3) TEE
(4) 3= R F e A

62. SiaT TR (2014 F ==) -
(1) 1441
2) 154
(3) 164
(4) 134



63. Who is the oy rrent President of India? 63, WA W THAR Yy ¥

(1} Pratibha Pag (1) whawm wfem
(2] M. Venkaiah Najdy (2) wHe $¥m Ty
(3} Ram Nath Koving (3) Ty =ik

4 N .
) e Mo {4) = Hid

64. Which of the followin i t .
mentioned in the Constitution of Indias | 6% 7T % #fur 4 ot & 4 frrer E

11} Structure of the Government 6L 60 v 37
(2} Names of palitical parties (1) #=Fm = &ha
(3) Rights of the citizens [2) weifes T & am
(4) ;i::rn;t::ﬂ:: the States and Union (3) il & s
(4) T afw Fz-miem vt & 9w

65. Whe inate i T
Eahh::mma 8 Members to the Rajya 65, THRV] 8 HEE) W W TIoifen w0 47

(1} The Vice President (1) Tty

(2) The Prime Minister (2) T

13} The Chief Justice of the Supreme i3 ﬂﬁamﬁigﬁﬂwﬂﬂ

Court
. {4} Ty
(4} The President
. 66. F=frfan % & F¥R wrm N B5faE wa =

66. Who among the [ollowing was the g w7

President of the Constituent Assembly

of India? (1} ETe e ¥R FAraEgw

(1) Dr. B. R. Ambedkar (2] T T TR

{2} Dr. Rajendra Prasad I

(3} Jawaharlal Nehru (@ e T

(4] C. Rajagopalachari
67. Fiefafan & & ¥R wm = wen e

67. Who among the following was the only R syl e
Indian Governor-General of India?

(1] B. Pattabhi Sitaramayya (1) <o Wzt Himmwn
{2} T. T. Krishnamachari {2} #e Ao TR
(3) #e TrESTERET

(3) C. Rajagopalachari
i4) Dr. Sarvepalli Radhakrnshnan % o qﬁqﬁrm—fgﬁ




68. When was the Constitution of India | 68, ¥ra =+ 4faum F3 FwEm mm @7

adopted?
(1) 26 7==t, 1947
(1} November 26, 1947

{2) November 26, 1949 {2} 26 79W, 1949

(3} January 26, 1950 (3} 26 FEL, 1950

(4] August 15, 1947 (4] 15 ¥, 1947

69. Who among the following plaved a 609, TEtafas 4 # femy wm 6 fared) 1 'IIFﬁI'!TtI:

decisive role in integrating the Princely 5
States of India? w0 A Tamias e farg off?

(1) Sardar Vallabhbhai Patel (1) WER T TEE
(2) Dr. B. R, Ambedkar (2] 2o Hlo WMe =T
13' i, REjEE,DFE-FEEﬂ']E-I':I i3 Ha TIE"TIEIF-lElTﬂ

4] Jawaharlal Neh
E o = 4) AR w5

70. Which of the following deal with the

matters in the Concurrent List of the 70, fretfafim & @ %99 ym & wfium § woEdE

Constitution of India? gt & e A = w7 A7

(1} State Governments and Local 2 : B
Government Bodies (1) = #n

{2) Union Territories (2) ¥&-mmife W

(3] Local Government Bodies [3) wetE e A

(4} Union Government and State 4y Fr mrET s
Governments (4 R e 7= 7o

71. Who among the following was the | T1. Fiiad A & ¥R wmm $ w@faus 5 8

Chairman of the Drafting Committee in el Wbl & s 47
the Constituent Assembly of India? .
(1) =le dlo 3Me 3v=ER

{1] Dr. B. R. Ambedkar
(2) Dr. Rajendra Prasad (2) =o g WHR
{3) Jawaharlal Nehru (3) wEEE T

(4) C. Rajagopalachari (4) e TeEmIrETST




72.

73,

T4,

75.

In the 18th century, under whom did
Bengal gradually break away from the
Mughal control?

(1} Nadir Shah

{2) Alivardi Khan

{3) Burhan-ul-Mullk

{4) Murshid Quli Khan

Who among the following Governor-
Generals decided that Bahadur Shah
Zafar would be the last Mughal
emnperor and after his death none of the

descendents would be recognized as a
muler?

1) William Bentinck

(2] Lord Canning

(3] Lord Cornwallis

(41 Lord Dalhousie

Which Governor-General declared that
Awadh was being misgoverned and
British rule was needed to ensure
proper administration?

{1} Lord Canning

{2] Lord Dalhousie

i3] Lord Mountbatten

(4] Lord Ripon

Which ruler of Kanpur called himsell
‘Peshwa'r

{1} Bajirao [

(2} Bajirao 11

i3) Bahadur Shah Zafar

4] Nana Saheb

72,

T3

T4,

75.

161 wh A fare g A S - g
Erm B 3w B T

1) ArwE

(2) it @™
) GrET-IeT- G
[4) gft F =

Freferfian & @ frm - 3 e fEn
fir wEgETE A el ge wER f e
Tl g & wr PRl o ST W e §
T wge T Fme

(1) Faferm af

(2) T2 ¥Fm

(3) =7 widafm

(4) TTE THEE

frm me-wars 3 WA e fFosEw woem

afth A wEa T W @ on o 2hEm s
giffm w0 & fan faftm ymee 6 sawss
il

(1} =2 Fm
[2) wiE e
[3) T8 e
(4) w2 from

TAq F fm wes 3 e 9 T s
{1) SFiRE wun
{2) =wiE fid

[3) TETTIME W
[4) = EEE



76, The best methodelogy to teach the | 76. ‘wwan’ & fawa & wga & fomu v )

theme Factory’ would be— fafiz #rit—

{1} to invite a resource person (1) firef e ) feifa =

{2} to organize a visit to an industrial i2) it st = £ g s
plant FA

(3) to screen a documentary [ilm (3 T® g‘l‘;{ﬁgﬁ P Tgrn

[4) to narrate a story 14 %—*—ﬂ;ﬁ T

77. What is EDUSAT? 77. gz (EDUSAT) & == wifinm &7

{1) A newly discovered planet in the (1} Hwwzm & @i T TE T

golar system 4 i £ 5%
&FIE F) W 3 ﬂEFllh THETH]
(2] An asteroid found betwesn the 12} E‘;WW%

orbits of Mars and Jupiter

(3) ww sEE-FEE e IR
(4) Tz P Togm ra-fitE I ® el

[2}) A man-made Indlan satellite

(4} The rocket that carries man-made

satellites to be placed in the orbit & wan § s @ ¥ fom fem 3
around the sun
78, 'TEamh 3w dew’ @ ﬁlfl‘f-“.—l‘hﬂ_fr T e
TB. The verses and ideas of which one of ma wefl & ue o R w Wi T
the following personalities have been i BT
regerved in 'Panchvani® and Biyak'?
; (1) walfn
(1] Kabir
2] TR
2] Guru Nanalk (2)
f {3) THEEm
(3] Ravidas
q) T
(4} Mirabai )
79. TEm F T w5 fafi-fm, e S wiie
79. The mural painting from Ellora Caves :
which shows Vishnu as Narasimha, the ;‘ﬁl 3‘:’? e & w0 & femrn T R, P 9
man-lion, is a work of which period? ?ﬁ'
(1) Rashtrakuta period (1] TEEE
(2) Chalukya period (2} =REH FE
(3} Gupta period {3) 7 w@A
(4] Guriara-Pratihara period [4) T -afmn T
80. Which one of the following organiza- | 80 Foaferftan @ @ ®R-m H7eq 9y § e
tions believes in Upanishads? T 7
{1} Ramakrishna Mission (1) T fs
i2) Satyashodhak Samaj (2] WIS T
(3) Seva Bamaj [3) #a1 wE

[4] Brahma Samaj i4) W& wHTH



81. Wind vane is used for measuring—
(1) air pressyure
[2] wind direction
(3} air temperatupre
(4] wind velocity

82. Which one of the following layers of the

atmosphere helps in the transmission
of radio waves?

(1} Mesosphere
(2} Thermosphere
(3} Exosphere
(4} Stratosphere
83. Identify the various layers of the earth

in order from interior te the outermos]
layer .

(1] Mantle, crust, outer core, iner
core

{2} Inner core, outer core, Ccrust,
mantle

3) Inner core, outer care, miantle,

crust

4] Crust, mantle, outer core, inner
core

g1, -l = wim oA F fe e
= 87

(1) =73 ==
(2) =g fm
(3) =7g AT

(4) 79 3

82. FEAEA A frafafon 4 @ FR-A wm fa
Wit & HeTm A w2

(1) TegEs
(2} g aTHER
(3) =fevea

(4) FHATTHER

83, gufi it filis wit =) w8 safes @ el
A T SR

(1) ﬁza,ﬁﬂ,mﬂﬂa,a#ﬁmﬁﬁa
(2) wrefs wie, ol w3, 96, e
(3) = i, Tl we, e, o

{4} w93, =, = #Fim, wnhs e



84. Observe carefully the location of the
sun, earth snd moon in the given
diagram and tell whal it depicts :

Suﬂ ey

\

(1) Lunar eclipse

(Qo

(2] Spring tide
(3] Meap tide
(4] Soplar eclipss
B5, When the river enters Lhe plain, it

bends and flows forming large bends
kowm as—

{1} floodplain
(2] meander
(3) oxbow lalc
[4) lcvee

86. Which means of transport is extremely
useful in most inaccessible areas and
in time of calamities for rescuing

peaple and  distributing {ood, water,
clothes and medicines?

{1} Railways
{2} Roadways
(3 Waterways

(4] Alrways

g4, For o afm A gd, 7= afr =z i i -
mm%lﬁwfnaﬁmr}wma#ﬁ_

l%jrim
N

(1) =z-TF
(2) =4 FE-HE
[3) ofY ==T-HTE

(4) Hd-TEm

85, w4 @) Taa # udn wl E A AR 5E I R
A a2 T T gEE R, W e i—

[1] AT T H214
|2 Tamd
i3} =il
[4) TZEY

86. FAM His 8F 9 = wyeis) % g=g oo
T owAn N WIEE, wW, UL ud ead
foafm =2 & 70 wagm = 29-m Os 9
g
(1) f=am
(2) WEFAr

(3] A=HrT

(4) FrgaEr



87. The branch aor peo

: s gEraphy which
with compesition of . deals
population iz Ea“';d"-_l}ﬂ-rt:lcula: human

(1] biogcngraph}.
[2) demography
QEIJ- human Ecography

(4] urban geography

Assertion (A) .

The sun sets in Gujarat about two
hours after Arunachal Pradesh,

Reason (R) :

Arl:J_naEhal Pradesh is on a higher
latitude than Gujaralt.

Select the correct option from the given
alternatives,

(1) Both {A) and (R) are true, but (R)
does not explain (A)

[2) [(A) is true and (R) is false

[3) (A) i=s false and (R) is true

{4 Both [A] and [R) are true, and [R)
explains [A)

Which one of the following 15 & non-

conventional source of energy?

(1) Matural gas

(2] Solar energy

(3] Coal

(4} Firewood

90. The breeding of fish in specially

constructed tanks and ponds s

known as—

(1] wviticulture
2} horticulture
{3) pisciculture

[4) sericulture

7. it ) = TEE, W PR T e 6

wr=rn o T & wltm B, Fea f—
(1) %m i

(2] FemiER

(3} W i

[4) R AET

88, uwE (A]

Hd A § EER wem W e #) o9
wR A B R

Fm (R :
SRUTHE S, TERTE I ge 8 I s
1 foim |

o o et 7w fawen w1 TR Eifa)

(1) (A) *n (R) =91 @9 ¢, S (R (A}
TI0 T FAl B

(2} [A) T % o (R) awe @
(3} (A) v ¥ o (R) TR

(4) [A) 3R (R 2 omem B, v (R (A R
TR W P

8o, F=fafEn 9 4 ¥9-m == = h-wwm

w47

(1) wrpfes hm
{2} =@ =i
(3) FrE

(4) ¥R

op, fyfe = A B = o oWl § oo =

W FEE f—
(1) Tafewem
(2) wRlE
{3) e
(4) Wi



PART—IV

Language—I
ENGLISH

IMPORTANT : Candidates should attempt questions from Part—IV (Q. Nos.
91 to 120), if they have opted for ENGLISH as Language—I only.

Directions : Answer the following questions

(Q. Nos.

91 to 105 by selecting the

correct/most appropriate options.

91.

92.

93.

Grammar-translation method i5
basically used to teach—

(1} foreign languapge

{2} rules of any language usape

{3} classical language

(4] mrammar

Which ene of the following can be

ueed as a rubric for the azseggment of

NMuency and coherence of language?

(1} Can initiate and logically develop
simple conversation on a familiar
topic

{2) Is always comprehensible, uses
appropriate intonation

[3] Demonstrates hesitation to find
words or use correct grammatical
structures

(4) Can express with some flexibility
and appropriacy on variety of
topics

Which one of the following 15 not the

objective defined by NCF-2005 for

teaching English at upper primary

level?

{1} To use dictionary suitable to their

needs

2) To be able to articulate
individual f personal responses
effectively

{3} To promote learners’ concep-

tualization of printed texts in
terms of heading, paragraph and
horizontal lines

(4) To negotiate their own learning
goals and evaluate their own
progress; edit, revise, review their
own work

94,

95.

96.

o7.

If you are listening to the d:m:ript__'iun
of how to reach a specific localion,
then you are doing—

(1} focused listening

(2} intensive listening

{3} extensive listening

{4) casual listening

Il a language teacher has put the
words ‘school, teacher, headmaster,

peon’ in a group, then she is
following—

il] semantic grouping

2] phonetic grouping

(3] grammatical grouping
(4] lexical grouping

"At the mitial stages of language
learning, may be one of the
languages for learning activities that
create the child's awareness to the
warld.” (NCF-2005)

(1} Vernacular language
{2} Second lanpuage

(3} Hindi

(4} English

Little or ne attention
pronunciation in

15 miven to
method.

(1} grammar-translation
12} CLT

(3} SLT

(4] audie-lingual



g9B8.

99,

100.

101.

Which one of the followi
come under the
and gradation?

'ollowing docs not
principle of selection

(8]
{2)

Availability
Coverape

(3] Frequency

(4} Accuracy

Thﬂ phenomenon, where a single word
15 associated with two or several
related meanings, is known as—

(1) hoemograph

2) polysemy

(2] homonymy

(4] homonyms

“The dog lived in the garden, but the
cat, who was smarter, lived inside the
housze” is an example of—

(1) complex compound sentence
(2] complex sentence
(3] compound sentence

()

simple sentence

If a student of language is cramming
his/her answers, then he/she would
not be able to—

(1) attempt vocabulary-based exercise
() attempt structural questions
(3) attempt creative writing

attempt question answers

[4)

102.

103.

104,

105.

if a student is
together as they
what 18

During reading,
iercing information

]::ad a text keeping track of

happening, he/she 15—

11)
(2
(3)
(4}

skimming
paraphrasing
synthesizing
inferring

Which one of the following does not
affect the intonation?

(1} Tone

{2} Rhythm

(3] Loudness

(4) WVeice/Pronunciation
are involved in thinking.

(1] Image, imagination, concept,
proposition

(2] Imagination, language, concept,
proposition

(3] Image, lanpuage, concept,
propesition

(4) Image, languape, imagination,

proposition

Language laboratory is the place
where the learners have to listen on
headphone. The language labs are set

up with a view to provide listening
activities in order to develop—

(1) speech habit
(2) criticizing habit
(3} listening activities

(4] analysiz habit



Directlions : Read the passage carefully
and answer the questions that [lollow
Q. MNos. 106 to 114) by selecting the

correct/most appropriate options

Born out of the forces of globalization, India's
IT sector is undertaking some globalization
of its own. In search of new sources of rapid
growth, the country’s outsourcing giants are
aggressively expanding beyond their usual
slomping grnﬁnda into the developing world;
setting up programming centres, chasing new

“ghients and hiring local talent. Through
geographic diversification, Indian companies
hope to regain some momentum after the
recession. This shift is being driven by a
global economy in which the US is no longer
the undisputed engine of growth. India's
IT powers rose to prominence largely on the
decisions made by American execulives, who
were quick to capitalize on the cost savings to
be gained by outlsourcing noncore operations,;
such as systems programming and call
centres, to specialists overseas.

Revenues in India's IT sector surged from $4
billion in 1998 to $539 billion last fiscal, but
with the recession NASSCOM forecasts thal
the growth rate of India’s experts of IT and
other business services to the US and Europe
will drop to at mest 7% in the current fiscal
year, down from 16% last vear and 25% in

2007-08.

Factors other than the crisis are driving
India's IT firms into the emerging
world. Although the US still accounts for 60%
of the export revenue of India's IT sector,
emerging markets are growing faster.
Tapping these more dynamic economies
waon't be easy, however. The goal of Indian IT
firms for the past 30 years has been to woo
clients outside India and transfer as much
of the actual work as possible back home,
where Jlower wages for highly slilled
programmers allowed them to offer
significant cost savings. With costs in other

emerging economies equally low, Indian firms
can't compete on price alone.

Toe adapt, Indian companies which are
relatively unknown in these emerging nations
are establishing major local operations
around the world, in the process hiring
thousands of locals. Cultural conflicts arise
at times while training new recruits.
In addition, IT firms alse have to work extra
hard to woo business from emerging-market
companies still unaccustomed to the concept
of outseurcing. If successful, the future of
India’s outsourcing sector could prove as

bright as its pasL

106. What is the author trying to convey
through the phrase “India's IT sector
is undertaking some globalization of

its awn"?

(1) The Indian IT sector is competing
with other emerging nations for
American business.

{2} The Indian IT sector is
considering outsourcing b
developing economies.

{3) Indian IT firms are engaging
in  expanding their presence
internationally.

(4] India has wusurped America's
position as the leader in IT.

107. Which of the following factors made
the services offered by the Indian IT

attractive to the US?

A. Indian IT companies had
expertise in rare core operations

B, The US lacked the necessary
infrastructire and personnel to

handle mass call centre
operations
C. Inability of other equally

cost-efficient developing countrics
to comply with their strict policies

{1} Only A

{2y Only A and B
(3] Only C

(4] MNone



108. What has caused Indian IT firfms to | 111. Which ef the following is/are not true
change the way they conduct in the centext of the passage?

business in develon)
TE countrs : )
e w A. The recesson severely impacted

{1} The demands of these markets the US but not India.

are different from those of India's B. India is trying to depend less on

traditional custemers the US as a source of growth,
{2) Wages demanded by local O The [uture success of Tndiﬂn_lT
workers are far higher than what firms depends on  emerging
they pay their Indian employees markets.
[3] Stringent laws which are not (%) Only B and €
conducive to outsourcing (2) Only A
[4) The volume of work being (3] Only B
awarded cannot be handled by
Bt R (4] All A, B and C

112, Which one of the following words is

109. What do the NASSCOM statistics most similar in meaning to the word
about Indian IT exports indicate? ‘chasing’ as used in the passage?

{1} Harasszing

(1} Indian IT firms charge

exorbitantly for their services |2} Pestering
(2] India has lost out to other [3) Pursuing
emerging IT hubs (4] Running

{3) The Indian IT sector should

undergo restructuring 113. Which one of the following words is

most opposite to the meaning of the

{4) Drop in demand for IT services by word ‘undisputed' as used in the

Europe and the US passage?
{1} Doubtful
110. According to the passage, which one {2) Deprived
of the following is _m:rt a dj_fﬁf,u[l:,r tl.rmt @) Emphasized
Indian IT firms will face in emerging
markets? (4] Challenging

{1} Local IT services are equally 114,

: Other than crisis i g
cost-effective 1sis, what is driving IT

companies to seek other options?

{2} The US is their preferred (1] Emerging markets

utsourcing destination
’ *E] The US makes more “15.:1 Eiﬂ'% of

(3) Conflicts _arising during  the India’s export revenue
training of local talent (3] None of the above

(4) Mindset resistant to outsourcing (4} Both (1) and (2)



Directions Read the extract given
below and answer the questions that
follow (Q. MNos, 115 to 120} by selecting
the correct/most appropriate options.

Break, Break, Break,
On thy cold gray stones, O Seal

And | would that my tongue could utter

The thoughts that arise in me.

0, well for the fisherman's boy,
That he shouts with his sister at play|

0, well for the sailor lad,

That he sings in his boat on the bay!

And the stately ships go on
To their haven under the hill;

But O for the touch of a vanish'd hand,
And the sound of a voice that 1s still |

Breal:, Break, Break,
At the foot of thy crags, O Seal
But the tender grace of a day that is dead

Will never come back to me.

115. What is ‘breaking’ in ‘Break, Break,
Brealk'?

{1} Poet's heart

{2) The wind

-{3] The sunshine through the clouds
(4] The sea

116. The mood of the speaker in 'Break,

Break, Break' is—

(1) lighthearted

(2] somber and grieved
{3) energized

(4} contemplative and hopeful

117. The speaker in ‘Break, Break, Break’
observes all the following, except—

{1} a sailor boy singing
(2] a lady in a tower
(3) ships coming in
(4] children playing
118, The speaker of ‘Break, Break, Break’
cannot—
(1] =ee
{2] speak
(3} hear
(4] feel
119. In the first two lines of the poem, the
poct uses—
{1) apaostrophe
.[2) assonance
{3) metaphor
(4] simile
120. The phrase 'haven under the hill’is an
éxample of—
i1) metaphor
[2] alliteration
.(3] personification

(4] simile
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PART—V

Language—II
ENGLISH

IMPORTANT :

Candidates should attempt questions from Part—V (Q. HNoa.
121 to 150), if they have opted for ENGLISH as Language—II only.

Directions : Answer the following questions

Q. HNos.

121 to 135) by selecting the

correct/most appropriate options.

121.

122,

123.

124,

Students are not organisms. Which
one of the following methods sees
them as a whole person?

(1) SLT
[2] Silent way

(3] CLL

(4] CLT

Writing is the __ representation of
speech sounds.

[1} graphical

i2) phonetic

(3] systematic
[4) alphabetical

When a teacher uses realia to teach
vocabulary and grammar, she is—

(1) using real objects, actions and
real-life sitwations

(2) using computer technology
(3) teaching through true stories

[#) using role play as a learming
device

A poem whose first letters of each line
spell out a word is called—

(1} epic
(2} acrostic
(3] haiku

(4] alliterative

125. Decorum in spoken English pertains

126.

127.

128,

to—
(1) clarity and purity of style
{2) correct grammatical usage
(3] wveice gquality

[4) appropriate gestures

Inquiry-based curriculum is based

orn—
(1) inductive reasoning
[2) heuristic reasoning
(3} analogical reasoning

(4] deductive reasoning

Which of the fellowing are structural
words?

{1} Auxiliaries
(2) Prepositions
(3] Conjunctions

[4) All of the above

Conventions of writing include—
i{l] proper punctuation

[2) imagination

(3} good vecabulary

(4] story ideas



129.

130,

131.

Positve interference is a kind of-—
1) foreipn lanpuage

(2] pictorial language

(3] mative language

H targel lanpuage

In  learning the
m'l.'I]T.'il:.nEI_lali_am i5—

oecw

lanpuage,

(1)

Al assel

(2)

an interference

(3} a burden

[4] a methodolompyr

MNale talang is done—
{1) while reading a review
(2} during extensive reference work

(3} while writing an essay

[4) during a lecture

132, The

1343,

134,

135.

method of teaching foreign
language without using the pupil's
firet language is—

{11 classical method

[2] grammar-translation method

(3] old methad

[4] direct method

Twa words have identical sound and
gpelling, but not relaled in meaning.
[t is known as—

[11 homonymy
2] homogragh
(3] polysemy

(4] homophone

Lanpuage of word is mot necessary
for—

(1] conceptual thinking

(2] associative thinking
(3 percephual thinking
[4] imaginative thinking

Communicative Language Teaching
replaced basically—

{1) Btructural Teaching
(2} Situwational Language Teaching
(3)

Muotivational Teaching

(4)

Matural Language Processing



Directions Read the passage given
below and answer the questions that
follow [Q. Nos. 136 to 144} by selecting the
correct/most appropriate options.

The strength of Indian democracy lies in its
tradition, in the fusion of the ideas of
democracy and national independence which
was characteristic of the Indian national
long before  independence.
Although the British retained supreme
authority over India wuntil 1947, the
provincial elections of 1937 provided real
exercise 1in democratic before
national independence. During the Pacific
War, India was nol overrun or seriousiy
invaded by the Japanese and alter the War
over, the transfer of power to a
government of the Indian Congress Party
was a peaceful one as far as Britain was
concerned, By 1947, ‘'ndianization’ had
already gone far in the Indian Civil Service
and army, so that the new government could
start with effective instruments of central

movement

praclice

Wils

control.

After independence, however, India was faced
with two vast problems, the first, that of
ethnic diversity and the aspirations of sub-
nationalities. The Congress leadership was
more aware of the former problem than of the
second; as a new political elite which had
rebelled not only against the British Raj, but
also against India's social order; they were
conscious of the need to initiate economic
development and undertake social reforms,
but as nationalists who had led a struggle
against alien rule on behall of all parts of
India, they took the cohesion of the Indian
nation too much for granted and
underestimated the centrifugal forces of
ethnic division, which were bound to be
accentuated rather than diminished as the

popular masses were more and more drawn
into politics. The Congress Party
originally opposed to the idea of recognizing
any division of India on a linguistic basis and
preferred to retain the old provinges of British
India which eften cul Across linguistic
boundaries; it was only in response 1o strong
pressures from below that the prineiple of
linguistic States was conceded as the basis of
a federal ‘Indian Union’. The rights granted to
the States created new problems for the
Central Government. The idea of making
Hindi the national language of a united India
was thwarted by the recalcitrance of the

Was

speakers of other important  Indian
languages, and the autonom} of the States
rendered  central  economic planning

extremely difficult.

Land reforms remained under the control of
the States and many large-scale economic
projects required a degree of cooperation
between the Central Government and one of
more of the States which it was found
impossible to Coordination of
policies was difficult even when the Congress
Party was in power both in the States and at
the Centre; when a Congress government in
Delhi non-Congress
parties in office in the States, it became much
harder.

achisve,

was confronted with

136. Choose the word which is most nearly
the same in meaning as the word
‘thwarted’ as used in the passage.

i1} Implemented
(2] Accepted
i3] Diverted

4] Opposed



137. Choose the word which is most

138.

139,

oppasite in meaning of the word
vonceded” as used in Lhe passapge.

(1} Rejected

(2) Denounced

(3] Withdrawn

(4) Criticized

Why waz central economic planning
found to be difficult?

(1) Lack of coordination in different
BoVernment departments

(€] Autonomy given to the States in
certain matters

[3) Lack of will in implementing land
reforms

{4} Multiplicicy of Stales and Unian
Territories

Which one of the following problems
was India faced  with  after
independence?

{1} Lack of coordination berween the
Central and State Governments

(2! Improper coordination of various
government policies

(3] Increasing the production  from
a very low lovel

(4] Military attack from across the
border

140. Which ene of the following isgyes wa;

141.

not appropriately realized by the
Central Government?

(1) A national language for {(he
counkoy

(2} Implementation of the formulated
policies

[3] Centre-State relations

{4 Ethnic diversity of the pceople

Which, according to the passage,

can  be cited as exercise in

democratic practice in India before
independence?

(1} The handing over of the power by
Eritish ta India

(2] The Indianization of the Indian
Civil Service

|3] Several democratic Institutions
created by the Indian Mational
Congress

4] Mone of the above



142. Which one of the following statements

143,

144.

is mot true in the context of the
passage’

{1) Economic development and social
reforms were initiated soon after
independence.

(2] The political elite in India rebelled

against the British Raj.

(3) The Congress leadership was [ully
aware of the problems of ethnic
diversity in India at the time of
independence.

(4) The Congress Party was originally
opposed to the idea of division of
States on linguistic basis.

Why was the linguistic reorganization
of the States accepted?

(1) MNon-Congress governments in
the States demanded such a

reorganization of the States.

Mo common national language

could be emerged.

=

Strong pressures from the States
ware exerted on the Central
Clovernment to create such States.

(3)

The States were not cooperating
with the Central Government.

(%}

India was not overrun by the
Japanese during the Pacific War
because—

{1} Japan had friendly relations with
Britain
(2} Japan was interested in India’s

freedom

(3) Japan was skeptical about its
success in War

(4} MNone of the above

Directions Read the passage given
below and answer the guestons that
follow (Q. MNos. 145 to 150) by eclecting the
correct/most appropriate opticns.

“A principal fruit of friendship®, Francis
Bacon wrots in his timeless meditation on the
subject, "is the ease and discharge of the
fullness and swellings of the heart, which
passions of all kinds do cause and induce.”
For Thoreaw, friendship was one of life's great
rewards. But in today’s cultural landscape
of muddled relationships scattered across
various platforms for connecting, amidst
constant whether
Facebook ‘friendships’ are making us more
or less happy, it pays to consider what
friendship actually is. That's precisely what
CUNY Massimo
Pighiurel explores in Answers for Aristolle :
How Seence and Philosophy Can Lead Us To @
More Meaningful Life (public library), which
also gave us this provocative read on the

debates about our

Philogaphy  professor

science of what we call iabwition’

Philosophers and cognitive scientists agree
that friendship is an essential ingredient of
But beyond the dry

academic definitions—like, say, “vohuntary

human happiness.

interdependence between two persaons over

time, which is intended to facilitate

socio-emotional poals of the participants, and
may involve varying types and degrees of
companionship, intimacy, affection and
mutual assistance”—lies a body of compelling
research that sheds light on how, precisely,
friendship augments happiness. The way

friendship enhances well-being, it tums out,



hag

nothing to do  with quantity and

everything te do with guality—rezearchers

gonfirm that it isn't the number of riends lor,

in the cass of Facebook, Trends).

145,

146.

147.

The change in the present situation
which has forced us 1o rethink the
concepl of friendship is —

(11 the arrival of sacial media on the
HUETE

12| rthere iz more interest i the
SCIETICOS

(3] Iricndships are not possible In
the real world anymeors, dise (o
CuvET-Cormpetition

[4]  Bacon and Thareau's theories are
no longer available 1o read

Friendship leads to hapoiness [z it

trae?

(11 Mo, there iz ne  relationship
betwreen friendship ard
happineces

{2] Fri=nds cannot male each other
happy

(3} One necds te fnd one's
happiness alons, with peace aof
mind

(40 Yes, researches have proven that
friendship does lead to happiness

Did Piglivcoi's book discuiss intuirion

too?

1) It just explained science and
philosophy

(2] It dircusszed Aristotle’s theories

(3] Yes

No, it only discussed friendship

(4]

=

=

e ——

148,

149,

150.

Is the guality of friendzs importamty

(1] We, number of comments an
social nelworking  sites g
important, nol the qualiny of
friends

[2) Yes, 1L matters

Mo, gualify comes automatically
with quantity

Ma, it iz imporlant to have more
number of frends, quality does
ol matter

As per the [rst paragraph, what are
the delates aboul?

[1} There
friendship.

ire no debates around

2} The qualily of comments of social

media is debalable.
[3) Thoreau and Aristotie’s thinking
i# af logzerneads.
(9] Ther are centered  around
whether gur Pacebook friends are
helping us become more or less

happy.

The word that is oppesite in meaning
to the word ‘'muddled’ 15—

(1] chaaotic
(2] ordered
(3] rumpled
.[4l confuzed
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